(IO.ZS - IO.SS) / (10.25,0.55)

led

Plot of 0.2 against 0.5 seconds of exposure at 0% attenuation
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Plot of 0.2 against 1.0 seconds of exposure at 0% attenuation
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(lo.ss — l1.0s) / {lo.5s,1.05)

Plot of 0.5 against 1.0 seconds of exposure at 0% attenuation
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(IO.ZS - IO.5S) / (10.25,0.55)

le3

Plot of 0.2 against 0.5 seconds of exposure at 35% attenuation
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Plot of 0.2 against 1.0 seconds of exposure at 35% attenuation
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Plot of 0.2 against 2.0 seconds of exposure at 35% attenuation
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Plot of 0.5 against 1.0 seconds of exposure at 35% attenuation
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(lo.ss — l2.0s) / {lo.5s,2.0s)

Plot of 0.5 against 2.0 seconds of exposure at 35% attenuation
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(I1.0s — 12.0s) / {l1.0s,2.0s)

le3

Plot of 1.0 against 2.0 seconds of exposure at 35% attenuation
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(IO.ZS - IO.5S) / (10.25,0.55)

le3

Plot of 0.2 against 0.5 seconds of exposure at 69% attenuation
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(lo.2s — l.0s) / {lo.25,1.05)

le3

Plot of 0.2 against 1.0 seconds of exposure at 69% attenuation
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(lo.2s — 12.0s) / {lo.25,2.05)

le3

Plot of 0.2 against 2.0 seconds of exposure at 69% attenuation
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(lo.ss — l1.0s) / {lo.5s,1.05)

le3

Plot of 0.5 against 1.0 seconds of exposure at 69% attenuation
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(lo.ss — l2.0s) / {lo.5s,2.0s)

Plot of 0.5 against 2.0 seconds of exposure at 69% attenuation
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(I1.0s — 12.0s) / {l1.0s,2.0s)

le3

Plot of 1.0 against 2.0 seconds of exposure at 69% attenuation
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(IO.ZS - IO.5S) / (10.25,0.55)

le3

Plot of 0.2 against 0.5 seconds of exposure at 88% attenuation
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(lo.2s — l.0s) / {lo.25,1.05)

le3

Plot of 0.2 against 1.0 seconds of exposure at 88% attenuation
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(lo.2s — 12.0s) / {lo.25,2.05)

Plot of 0.2 against 2.0 seconds of exposure at 88% attenuation
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(lo.ss — l1.0s) / {lo.5s,1.05)

le3

Plot of 0.5 against 1.0 seconds of exposure at 88% attenuation
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(lo.ss — l2.0s) / {lo.5s,2.0s)

Plot of 0.5 against 2.0 seconds of exposure at 88% attenuation
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(I1.0s — 12.0s) / {l1.0s,2.0s)

le3

Plot of 1.0 against 2.0 seconds of exposure at 88% attenuation
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